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INSTRUCTIONS TO CANDIDATES _
{Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet|

1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it conteins all the pages in correct sequence and that no page/question is missing. In case of faulty

Question Booklet bring it ta the notice of the Superintendent/Invigilators immediately to abtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
uAthout its envelope,

A3, A separate Answer Sheet is given. }t should not be folded or mutilated. A second Answer Sheet shall
not be prendded. Only the Answer Sheet udll be evaluated.

#A. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above,

|5, On the front page of the Answer Sheet, write by pen your Roll Number in the apace provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (il any] on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwisge it will be taken as
unlair means,

‘8. Each guestion in this Booklet is followed by four alternative answers. For each question, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of lhe Anawer Sheet.

@. For each question, darken only one circle on the Answer Sheet. [f you darken more than onc circle
or darken a circle partially, the answer will be treated as incorrect.

NO. Note that the answer once filled in ink cannot be changed. If you do not uish te attempt a quest inn,
leave all the circles in Lhe corresponding row blank {such question will be awarded zero mark].

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

12. Deposit only the OMR Answer Sheet at the end of the Test.

13. You are not permitted to leave the Examination Hall until the end of the Test.

14. 1fa candidate attempts to use any form of unfair means, he/she shall be liable to such punishmeni
as the Univeraity may determine and ympose on him/her.
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No. of Questions /el ¥ wwar : 180

F . : r u
11'1-;“: 2 Hours fao2 ' Full Marks /qwts : 450

ftose :

(1}

2

(3]

.v#miﬁmmwtﬁ%m,m,pjm 4) o5 #

This paper consists of Objective Type Questions and is divided into TWO
Sections (I and 1) as under : ) E :
E%ﬂtmﬁﬂmtmﬁwﬂ(lﬁmﬁ%t,@h
(a) Sectiem—I consists of 120 Objective Typs Questions nu Gnernl
Awareness, Mcntal Ability, Comprehension and Subject Awareniogs in
some major subjects.
(%) m—lﬁ.mqﬁwmmm,mﬁmm,ﬂWa:y
gEa et ¥ 37 w s # - ' .
{b) Imﬂnu—ﬂmnﬂpt:nfﬂﬂﬂbjccﬁvehpu%iﬁomm{ﬂm
Language and (ii) Hiadi Language. . ) B '
(@) mﬁmMm{ijm“*[ﬁ]M_ﬂm#gm -
st §) : : ‘ o
A candidate’ ia required to attempt as many tip he/dhe cip of
Bedtion—1, a.urlu:lr Yuestions uflg'fah tf?];l?'!w;g nl:up.f* i"
(i) English or (if) Hindi in Section—I¥.
Mﬂa&matﬁ:mm:mﬂzﬁ}dﬁfﬂmﬁnm“nt
witmaies vt #t v = ' .
Each question carries 3 marks. One mark will be deducted for each incomect
answer, Zero mark will be awarded for each unattempted question.
ﬂﬁtmaaﬁmtlmmm#ﬁmmmmm|mma'
T WE Y= 8w '

If more than one alternative answers scem to be approximate to the corpect
answer, choose the closest one. :

TR e T I 0w ¥ e Wha o, @ Fezw ol w3

Each quastion is followed by Four alternative answers {1), (2], (3) and {4). Only
one of these answers is correct. Select the correct answer and record it against
the relevant question by darkening the circle with /Ball Point Pen in the

Answer Sheet, as per the guidelines.

A ¥ B I o R wh oot SHVPO: L I g
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Secton—I

uvs—l1 -

1. The amount of light entering the cye is determined by the size of the

{1} rctina {2) cornea (3] pupil (4] fovea
Hiﬂﬁmm%i%ﬁ:ﬁmqﬁﬁmt?
(0 Y (2) ®Fm (3) o [4) wrRR

@ Immunie dﬁqu syndrome could develop due to

(1} defectivé liver (2) defective thymus
(3) AIDS-virua ' {4) weak immune gysicm
mtmﬁnﬁﬁaiﬁﬁ:trhmmnﬁ!?

1) vl w0 @) dee wem (3) @F ¥ Ry 4y e vom W

Which enc of the following discases is communicable?

(1) Rickets {2) Amochiasis {3] Diabetes (4) Cancer
Praferi & 2 A A wwww 47 |
) gmam (2 wiaiw Q) e (4) %=

A bacterial discasc i3
(1) leprosy _ (2) polic {3) chickenpox [ influenza
frafufem § ® #F-w I Rt 27
(1) ¥® S (2 e (3) === (4) TR
5. Osteomalacia is due to deficiency of
{1} vitamin D} {2) vitamin K {3) vitamin A {4) vitamin E
131 2
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mmmﬁﬁm‘m%mmmn
(1) f=fa D . (2) fafm K (3). farfim A 4 fofm E

6. Kwashiorkor, a disorder of children E due to
(1} protein/essential amino acid deficiency
(2} carbohydrate deficiency
(3) genetic problem
() vitamin deficiency
witritkr o w=l % ER Ien I ek weEsw B R

(1} WIMW@IWM'L (2) wrtgRRZ W anmw

(3) smRefies wwen 4 Prafm = v
7.—) The life span of human .rnd carpuacles in
" {1) uncertain

2) 120 days

(3t 180 days

(4} as long aa the individual survives

a3 wiftaw it ﬁ dmiy ot

(1) affrm (2] 120 fA

3) 150 = . () = & e v

8. )The'iduim: of urine produced in an adult human every 24 hours is
(1) 10 litre (2] 15 litres (3) 30 litres (@) 50 litres
1
W e ot T e 4 A Ao At

) Y0t o 15 o @ 3o e

b\l

31) 3
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11.

13.

13.

{131)

Which one of the following scientists is kmown as the father of modem genctica?

(1) Gregor Mendel | {2} Hargebind Khorana
3 T H Morgan (4] Charles Darwin

P 4 & fow A @ AT SUgEA AER W W T I R

) PRARE (2 WRREE @) R We Wl () Wl wfE

(1) A @ B (3) AB @ ©

Radiocarbon dating is used to find the age of

(1) buildings {2) fossils . (3) rocks {4) babies
ety A i Rt o & fion. & forg fe 47
w2 e @ v @ fyg

Which one pf .t]':u: following proposed SFOLR model of behaviour?
{1] ThomHike (2) Woodworth (3} Watson -{4] Kohlar
FTER % vH-3N-am wed ® el § @ fRR ke fen a2

() e 2 e @) e (@) e
In which one of the following areas Gestalt paychologists contributed mﬁmﬂy?

(1} Perception (2] Learnhing (3) Memory ° {4} Thinking
frfifrn § @ fem @3 F e wWAAWRET Y Taifte IR fen?

{1) WAt (2) wfrm (3) = @) fom
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14. )What-is it called when we perceive a stable object toving?

(1) - Displacement (2) -Autokinetic effegt

{3 Mhi- armenon (4) Induced movement

o R AR T T oiefe w § @ §, o o e w87

(1) A (2) R S — (3) FH-FEER  (4) TEw Rk

18, Which part of the ear converts sound energy into neural activity?

(1] Eardrum (2) Cnchlt::ﬁ (3) Hammer (4] Gval window
T W W-R 9 =mH-w w70 e § ofaffa W 4t
(1] wiIa 12) =i (3) ya /el (4) FizmEn m
6. Platean in leamning refers to
(1) cessation of learning (2] arrested growth in learning
(3] defect in learning {4) obstruction in learning
sftrm & wRr wka s}
(1) wfem & wf W (2) afom ¥ ssgads w
@) sftrm # v = (4) wfom # Hady =
f7. Which one of the following proposed the cognitive theory of learning?
(1) Kohler (2) Tolman (3) Skinner (4) Thorndike
frofifies % @ fead wfem ¥ dymoms figra @ g fem m?
1) e (2) el 3) f@Fm (4) stz
118, Whidh one iy the highest level need in the need-hicrarchy proposed by Maslow?
{1} Affiliation nced (2) Biologiiel:gaed
(3) Need for self-actualization (4) Need fo ilglefcanit

131) 3
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= T v wewwa-tgEEd d wdia 'R s Refafaa 7 8 Sw-d e
(1) g e (2) aAfew sEIgED
(3} =w-fay # svawmE (4) e B smEvTEn

19. Which one of the following defined personality as a dynamic organization ¢
psychophysical systems?

(1) Cattell (2) Allport (3) Sullivan (4) Ebhinghaus
frafafae & 3 feee =afeem = wifis 43 % e o7 % =0 § ofonfim fay
(1) W= (2) srmird (3) gEfm (4) emta

Which one of the following developed the ‘Stanford-Binet’ Intelligence Test?
(1} Terman (2) Binet '
[3) Stanford {4) Stanford and Binet '
Prafufen § & femd Dad-fad' afy wiaw w1 fwm B @?
{1) zom (2) fam
{3) wawrd (4) BawE g il

21. Who made first successful attempt towards assessment of intelligence?

(1] Weschler {2} Terman {-3} Binet-Simon {4) Spearman
e ww R o # v gow wwm AR R wr?

(1) ImER (2) A (3) fa—amm (4) ==

22. : Which one of the following describes the concept of thinking?
{1} It is an inner apeech
(2} It is a type of remembering
(3] It iz a process of problcm-ioiving
{4] It is a form of introspection

(131) | 6
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Prafefym & @ ¥ R & v = of @ 47
(1) = @ st R f (2) & TRW W UH ¥ET R
{3) T TTen-wmaE # ow e } {4]nmm&hmqmﬁmt

23. Which one ia the most suitable method of mmuung the ‘causc-cifect relationship’
bﬂm variablea?

{1} Correlational method (2) Experimental method

(3} Observation methed . (4) Field-study method

S R SR S} O D AR G o s gus 1 g e S OO
(1) mr-w faft (2) v faft  (3) dam fafw (4) BF-Ioqe faly

24. | Which one of the following initiated the ‘time and motion’ studics?

-

(1) Taylor (2) Secott (3) Gilbreth (4} Elton Mayo
fafuie & } A T @ R aemEl © geam i dy

(1) ¥ (2) Wi (3) ey (4} ez T

25. Which of the following is the purpose of ‘job analysis'?
- (1] Description of .the activitiea involved in a job
{2) Description of the features of working conditions
(1) Specification of the skills and capabilities required
(4) Al of the above
Pl & A ¥R ‘v AW w 3w bt
(1) Tt wrd & Bt frameand = o
{2} wt-zm & e W ok
(3} ﬂrnﬂ w st = fafie e
[41 e

(131)
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26. Which one of the following dates has been denated as “World Environment Day’?

(1) 5th May (2) 25th May (3] S5th June (4] Sth July

Pt Rfed § 3 freR P wiaw Raw % w0 d aftm R w9

(1) 5af - (2) 25 =f @ 5T % 5 o
27. Which one in the following continents is the genesis of humen beings?

(1} North America (2) South America

(3) Africa’ . (4) Australia

Prerfrfir w3 & feed e fy w1 3ge g b9

(1) =t =dfm (2) 2w adfE (3) snRIE ) SRR

' QE)When was the Dowry Prevention Act passed?
ztw Pare wfifan w1 ofm gan? _
(1) 1929 (2) 1955 (3) 1961 (4) 1990

29. Who is the composer of Brahmasutra? )
- (1) Kalidas (2] Shankaracharya
(3) Kautilya {4) Manu
g ¥ T W 7

(1) wites (2) T (3) #freg (4

30. Who among the following was the proponent of Non-Cooperation Movement in lndia?
{1} Malaviyaji i2) Gandhiji (3) Aurobindo {4} Dayananda
ama H nedm e & W Brefafma 3 @ 9 a2
(1) =rererysi (2) s (3] sl (4) A=

{131) 8
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1. Who among the fﬂllﬂw;ng was the First Indian Gavermmor General of india?

() Gopal Krishna Gokhale - (2) Motilal Nehry
(3 Chakrabart Rajagopalachary {4) Sardar Patel
Fefelm & @ 39 wm nofin wm ¥ s a3 47

(1) Mo o e (2) Ardftera I
(3] =t it B 14) W@ wa

33. Which onc in the following ia a m_rrnct‘sequcnce?
{1) Satyayuga, Dwapara, 'Ifeta, Kaliyuga
-{2) Kaliyuga, Dwapara, Treta, Satyayuga
(3) Satyayuga, Treta, Dwapara, Kaliyuga
(4} Dwapara, Kaliyuga, Trcta Sat}'ayuga_
frafafen 4 3 B-m mh w9 47

(1} wgn, g, o, whem (2) wfgn, T, Jn, syt
{3) wewgn, ¥, g, wfergm (4) o, Fferm, ¥, wEw
33. Which one in the following pairs is not correctly matched?
| List—i List—1I
" (1) Ram Mohan Roy ~Sambad Kaumudi
{2) Vivekananda Prarthana Sanraj
{3) Dayananda Arya Samaj
(4} Mabhatma Gandhi All India Harijan Sevak Sangha
frafiga A9 F @ o o gk @ A2
g1 g0
(1} Todter W@ HaG R
[2) Frtmprr s wa
(3) o s wara
(4) werwen o sftre vt ghom @ W9

{131}- ' 9
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34. Where in Diamond Harbour situated?

{1} Mumbai {2) Chennai (3) Kolkata (4 Ahmedabad
srmoE e el w7
(1 e (2) w=d (3) ®rerwtan | (4) TR

The Violence Against Women (Prevention) Act was passed in the yeay
afersit & fasg Tl (Ramo) sfufaw fea wd wfe gt
{1) 2000 (2) 2005 (3) 2008 (4) 2009

Who among the following women was the First Chiel Minister of Uttar Pradesh?

(1] Aruna Asaf Ali (2) Su-::l'_lcta Kripalani
{3) Rajendra Kumari Vajpayce ' [4) Mayawati
ety wfensll § @ ¥ Iw RO By qERR W

{1) wwm MEG 3T (2) g FEAE

(31 g g i (4) T

37. Which one in the following is the correct scx ratio of population in India according ta
Census 2011 7

(1} 936 females for 1000 males . {2) 940 females for 1000 males
(3} 950 females for 1000 males (4} 970 females for 1000 malea
frafofrm § @9 o 9 o wRe § SEEET W 2011 FEEET % 3RER A7
(1) 936 =femd ¥ 1000 & (2) 940 uftewd wfd 1000 o
(3) 960 wfkard s 1000 g= {4 g?uwliaﬂnﬁr 1000 gy

38, Which State in [ndia has the largeat population according to Census 2011 ?
(1] Maharashtra (2) Bihar

(3) Uttar Pradesh ' . {4) Madhya Pradesh

{131} 10
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ain # few oeg 3§ 2011 A wEHER waife w27

() e (2) fimm (3) I Ww (4) e
When was the First Five-Year Plan started in India?

wRe % wun gl G o owew pd

(1) 1948 2) 1949 . (3) 1950 (4) 1952

40. When was Hindu Marriage Act passed?
firr, Trme fufran s ity gan?
(1) 1948 (2) 1952 (3) 1955 (4) 1956

41. What ia the name of the treatise written by Kautilya?

{1} Mimansa {2} Dharmashastra
(3) Smrit | {4) Arthashastra
Wl g frfm T w1 o oAm
(1) dmm (2) whwmw (3) =fd _‘ (4) 3w |
42. If a consumer gets constant satisfaction at different pomnts on a curve, the curve ia
termed as ;
i1} utility curve . (2) indifference curve
i3) equal product curve ) {4) budget line

R et s W aF 5 Bt Rl wowe Al Bl 3, @ W o W w0 s b
(1) Iyafirm =% (2) wetm T {3). ¥ INE TH (4) W Yam
e Fixed cost in Economics are generally termed as

(n Fi-ew : {2} real coat
¥ cppolilenity cost (4) suppleashitary cost' .

{131} 11
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sdore # fér ama F aEEs: FW oI R 5
(1) s v (2) e @
{3) ey @ (4] T O

44. )'In which of the following markets, firms sell differentiated products?

{1} Imperfect competition (2) Perfect competition
{3) Monopolistic competition {4) Oligopoly

Prfern ¥ @ frm R 3wl Priges sl dud &7

(1) st sRefir (2} ot st

(3) e R | (4) SR

45. Under Ricardian theory of rent, transfer earnings are presumed to be
{1} positive (2} negative 3 210 (4) equal to rent.
sl ¥ m figm F s=ein, mamw witet Gt S §

{1} " 9IS (2) FMHS {3} 1A {4] <MH F TOW
46. | Uncertainty Bearing Theory of Profit was propounded by

(1) Knight (2) Clark (31 Hawley {4} Marshail
w1 Al fagrme wfewfa fen ™ @

{1) "= (2) % O (3) ¥ g (4) wefer

47. Am:ordihg to Keynes, speculative demand fur'tﬁuncjr depends on

{1] income . (2) savings -

(3) consumption (4) rate of interest

e F AR, W ¥gE & RR 9@ R wh fok we 2

(1) " W (2) w=a W © {3 I W {4) e Y @ m

{131) 12
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Discricming ting monepoly is possible when

N o marints have increasing level of couts

ﬁ two mariots have decreasing level of costs

(3) two markets have different e.tutic.;ities of demand

" M) twé mmricets have amwe clasticities of demand

folgw Teftem v v § =

{1) 2wl § BT W wEm R B

(2} ¥ wwl # wr W owem g W OW

(3) 3wl & wtn i dra B @

4 2wl & 5t H = W D

Which of the following is not a function of Central Bank?

{1) Credit control : (2) Credit creation

{3 Lender of the last resort (4) -H.miopuiyh of note imaue
fnfinfen # A e e b= W owd o A7

(1) wr Friew ' (2) "/ g

(3 o wogEn & w0 X wR EA - (4) A e W gl

In Keynesian theory of employment, employment depends upon

(1) aggregate demand (2) aggregate supply

(3) effective demand ' (4) marginal efficiency of capital
B & duew g #, Faw Pk won f |

(B mw R (2) mqfiﬂ _

Gk ! R
(@ S ot @) 10 A iy

13
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Bl1.

52.

53.

(131)

Who is the Chairman of National Development Council in [ndia?

(1) Prime Minister (2} President
(3] Vice-President ‘4) Lok Sabha Speaker

wrz # Tt frem ofg w1 sty A9 R7

(1) woef (2) wgsfa (3) I-ugf (4) TrEEn W e

According to Fisher’s version of the quantity theory of money, if the qua.nt:ty of money
ia doubled, the value of money will

(1) be doubled (2) be halved

(3) remain unchanged {4] can't say

m%mmﬁtﬁ:ﬂq&m%muﬁgmﬂmﬂ@mmﬁmm & q
& Y F

(1) g (2) smm (3) N kT W (4 T we TR
Which of the following tax can be sghifted?

{1} Income Tax | {2) Corporation Tax

{3) Customs Duty : (4) Wealth Tax

Prafofira & & $t9-m1 = fEfda fem =1 9= &7
{1) SR (2) Prmow (3) #m g {4} a5 W

When law of diminishing returns operates, the total variable coat

{1). rises at decreasing rate (2) rises at increasing rate
{31 declines at decreasing rate (4) declines at increasing rate
7 FEAR Sfodw Bam w6 v R, @ e oRedwta T

(1) w=h ¥ = & 73d 2 ' (2) woft wf T ¥ wgh }

(3) et wf WA weh 2 ' 4 T o =@ g
: 14
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55. Who, among the following, has not been the Governor of Reserve Bank of India?

{1 Y. V. Reddy (2) Bimal Jalan
(3) Montek Singh Ahluwalia {4) C. Rangrajan -
P # @ W2 el Roed o w0 ek T T A7
) o B0t @) e e
(3) W fe i (4) o TR
$6. On which date, saving deposit rate in India had been deregulated?
-[11 October 25, 2011 (2) September 25, 2011
{3) October 25, 2010 . (4] September 25, 2010
fou Bk B, T f v o g B AlRdfe fen e
{1) 25 =g, 2011 | (2) 25 faR, 2011
15; 25 ¥, 2010 (4} .25 Repm, 2010

87. The Preaident t:f India is elected
{1) directly by the people of India (2) directly by Parliament
{3) indirectly by the people of India {4) indirectly by Parliament
e & TpeR W P g Ratfe R w47
{H mm%m%qﬁmm (2) worw ®Y ¥ "Wwe g
(3) wwwE w0 ¥ ww & et g (4) S99 w9 & €€ T

Patliament in India has ;
(¥} two chambera (2) three chambers

{3) one chamber w}r chambers

e dun § Rel v 03 7
M ww (D R B wEF W

asy 15 P10
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89, Chief Justice of the Supreme Court of India is appainted by
(1) Prime Minister of India |
(2] President of India
(3] Law Minister of Central Government
{41 People of India
wi ¥ WA em & ged Awnm f fee feed g & adt 47
- {1} WRE ¥ TEEEA (2) sHa % Tgehy
(3} %3 TR ¥ WA A (4) WA F Finfes -

60. Scientific Socialism is associated with the name of
(1) John Locke (2) Robert Oven
(3] Charles Fourier {4} Karl Marx
dwfrs AR FRek W & oWy 27 .
(1) =R ats (2 T s (3]' T i (4 e wEd

The First World War was not won by

{1] USA (2] USSR
{3) Central Powers {(4) Allies Powers
Prafiifen # @ a9 un frage w0 fem 76 @7
(1) Fouwdous | (2] LoUHoTHoFWo (3] »2dm wiwal 4 P vt
62. 'ﬂﬂuuv;uimty is superpower over citizens and State unrestrained by law.” Whe said
..B 3 l.
(1} Hobbes (2) Locke Bentham
(3] Bodin (4) Bryce
‘et et @ R W Rfe oo sfaba Toeis 20 e v e
(1) ¥ea (2) =% d=m- (3) =fE= ~(4) Wmm

{131) 16
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@ Only nation that was expelled from League of Nations in 1939 wan
(1) ~CGermany {2) Russia - {3) Japan i4] China

&7.

[131)

¥ 1939 & ®h Jfe Swrw & witepn wem 3w We-m w7

(1) {2) ==A {3} I i4)

"~ Who i called the Father of Political Science?

-(1} Plato (2) Aristotle (3) Karl Marx ()

m#_% T T fed o amm X7
(1) <A 2) IR (3wl wwd )

WhnwaschfmidmtofUSﬁwthNChartﬂ'mlimed?

(1) Truman (2) Nixon (3] Rocsevelt (4)
TredR S & pEREtE 93 & wEw omiw W upei s wi?

(1) (2) P @) ¥ (9
Which date is observed as Human Rights Day? |

(1) January 1 {2) May 1 {3} June 10 (4)
Wt R Prafafm & @ fm Rl ) w0 s 20

(1) 1wt (2) 1% (3) 1097 (4)

=

Thomas Hobbeg

qtqa e

Wilsan

December 10

10 femsn

Who was the Prime Minister of India at the time of Second Pokharan Nuclear Teat?

{I) Atal Bibari Vajpayee (2} Manmohan Singh
(3) I. K. Gujral \ (4) Chandrashekhar
o dreew g wiym ¥ WA wior # wordd s . |
(1] e Pk wibh (2) wrine fig
{3 mm (4) SwEeR

17
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68. Who wrote the famous ancient book Politics ?

{1) Plato (2) Aristotle (3) Cicero {4) Socrates

q;‘iﬁz s qR Politics & &% #11 472

{1) A L2 I\ (@ fad {4} gwua
69. Article 14 of Inn:iinn Constitution decals with

{1} Right to Freedom {2) -Right to Equality

(3) Right against Exploitation . {4} Right to Religion

el e W sg=az 14 Prafaia § @ fed wag 7

{1] PRRM W AGE (2) BOEAT W SRR

(3) viww % fag sftwn (4) mffE wrm W aftwer

Who wis the last Governior Octicral of India?

{1} C. Rajagopalachari (2) Rajendra Prasad

{3) K. M. Munahi (4) Lord Mountbatten

W W #ARW T | W @t ;o .

{1 e TRAMIETEH] 2) T TR (3} ‘Qiu THa 'g]ﬂ (4) ot aahen

71. Which among the following nations is not a permanent member of United Nahnn ¢
Security Council?

{1) Russia (2) Japan {3) France {#) China

Prafafr § @ A 1y e © gen R T v ww @ b
~ {1) w& . (2) S 3) W (4 <

1@ In which of the following countries Mohenjodaro is located? '

(1) India (2) Afghanistan {3} Pakiatan (4) Iran
g e ¥ @ Rew T A arafe 27 |
{1} v (2) FFnREE (3) fFEmR {4) fm

{131 18
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Which of the following animals is referred most in the Rig Veda?

(1} Cow {2) Elephant {(3) Horse {4) Goat
PafR § @ fey g B el w92 § ond afes @ w47
(1 ™= (2} wdt _ (3] m (4 w0

Pa-hien the Chinese Pilgrim visited India during the period of
(1] Gupta (2) Maurya " (3) Harsha - (4) Kushana
W w6l w3 few Fw a6 T Ry '

(1) (2 A (3) w (4) =

. . Name the writer of Rajatarangini ? -

{1] Vilhana '(2) Kalhana {3) Banbhatta {4) Kalidas

el % vew W K7
M e @) @) W (@) wfm

Which Sultan transferred capital from Delhi to Daulatabad?

(1) Ghiyasuddin Tughlaq (2) Muhammad Bin-Tughlaq

(3) Firez Shah Tughlag (4) Mubarak Shah

firy gee 3 Rt @ deme vawed w1 okad R

(1) wrgds e C (@) e R

@) ot oy g (@) Hares e

Who 1aid the foundation of City. of Agra?

{] Shahjsham . - (2) Ibrahim: Lodi

(3) Wahbal Lol - (4) Sikandar Shal Lodi i
19
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smm ¥r & fa F wEh 6t
(1) et {ilfmm (3) wEE e (4] Rt e O

Eabar wrote Tuzuk-i-Babri in wiuch language?
{1} Arabic ' {2} Persian (3) Turlkish 4 Urdu

w3 gyw-r-wmd e wmn A Rl
(1) sl (2) wreh @ T 4 R
79. Akbar built Buland Darwaza to commemorate the victory of

(1) Bengal (2) Jodhpur " (3) Malwa " (4 Oujarat
e 3w TEE 6§ R o W Rt

(1) W @ e @) T (4) T

80.. Nizamuddin Auliya belonged to which Sufi Silsilah (prder)?

(1) Pirdausi {2) Suharawardi (3) Chishti (4] Shattari
Pramg alfern firm g frefien () & 33 47
) fdsh (2 o (3) favdt .
Who introduced Mansabdari System?
(1) Aurangzeb (2) Akbar (3) Humayun (4] Jahangir
wwgd wEen lﬁi. e R #? | :
(1) AR (2) SR (3 T (4} =il

e Which department was under Mir-Aatish in the Mughal Administration?
(1) Judiciary {2) Royal Housshold
(3} Cannon

{4] Revenue

(131) 20
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T TR § d-anfm ¥ i @ fam .y
{1) =m @ W TEmEE (3) e 4} TR

88. Ryotwari Settlement was established in which part of British India?

(1} South © {2) Eastern (3) Central {4) North
Ay e falw wma & B owm § @ o Ay
(L s (2) ot (3) ™= {4) I

Which Officer advocated English as Medium of Education in India?

(1} Charles {2} Macaulay (3) Alexander (4) Wilson
fer aftard 3 wvm # finn % wrem & w0 A SR B TR A7
(1) wed (2) = (3) s 4 foema

[IE.. Who waa the Governor General during the Freedom Struggle of 1857 7
{1} Dalhouaie {2) Hardingc (3) Canning {4) Lytton
1857 % YW €UW & waw wng W TR we #m @t

(1) wenilt (2) wfdn (3) *fm (4) Forzm

@Inwhichycarcﬁppshliaﬁiuncamctﬂlndia?
frw fiom fem of wma sy

(1) 1939 (2) 1945 (3 1942 (4) 1946

- . :

§7./ Who has been appointed Chairman of the Fourteenth Finance Commission?
{1} Iiingjic S (2} Y. V. Reddy
(@} Sudipto Mandal (4) Sushma Nath

11311 21
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89,

90.

21.

91.

[131)

dierd fam wmEm = sreny feew s fen w20
(1) =fisha &9 (2) Tk e W (3) | e (4) I T

The number of observations in a group is 40. The average of the first 10 members is 45 -
and the average of the romaining 30 members is 3-5. The average of the whole group is

w % § Yqvit f wmw 40 £ W 10 T w1 shwe 45 2 s AW 30 wewd w1 ot
35N @t w shwm

11 4 (2) 15/2 (3) 15/4 4 &

If MOHAN is repreaented by code KMFYL, then COUNT will be represented b}l’
afy MOHAN %1 32 KMFYL %, @@ COUNT ® %2 8
(1] AMSLR {2) MSLAR ' {3) MASRL (4) SAMLR

The sum of the ages of two persons A and B is 50, If 5 years ago, tlmmbant"thelragca
was 5:3, the present age of A and B are

ﬂ'ﬂﬁﬁlﬁAmﬂﬁmmﬁysnﬁlﬂﬁSﬁ‘{ﬁﬁﬁ%HWESW,?&I
TR # A ™n B R g wrf

(1) 30, 20 (21 35, 15 (3) 38, 12 (4) 40, 10

Let @2 meana minus (-}, b means multiplied by (x}, c means divided by {+) and 4 means
plus {+}. The value of 90 d9a29¢10b2 is

aft a w ok weEm (<) X, b = and T (x) R, emanfﬁmmmtaﬂtdmwm'
(+1 % N 90d9a29210b2 ¥ e &

(1) & @ 10 @ 12 @ 14

ALU stands for

ALU & awed &
(1} American Logic Unit {2} Alternate Local Unit
3] Altemating Logic Unit {#) Arithmetic Logic Unit

22
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93. Which of the following is the Central Bank of India?

(1) Reserve Bank of India - {2) State Bank of India
{MN Ccntrnl'Bank of India (4) Punjab National Bank
frafivia 4 & o1 via = 0w &= &1

(1) Bad #= =fs gfamr (2) Rz &= stw sfEan

(3) == =% =T sfem (4) YA vEa &

94. Which is the highest Civilian Award given to a person in India?
{1} Padmashri ' (2) Padmabhushan
| (3) Padma Vibhushan ' (4) Bharat Ratna
vy & fh sl W R TR T Wik TR T w27
() vk (2) TaqE (3) v fagen (4)
95, Jawaharlsl Nehru wrote the Discovery of Jadia in |
{1) Atimadnagar Fort Jail (2) Alipur Central Jail
{3) Mandalay Jail (4) Yervada Jail

mﬁﬁﬂﬁl?ismwryuﬁhdﬁmiﬂ

(1) wwErR W 9= ° (2) s Fha e @
(3) W = ¥ | @) FEm ¥\ i
96. Kisan Day is celebrated on
(1) 23rd March ©(2) 23rd June
{3) 23rd September {4) 23rd December
o fevg wAvn anan | |
I} 3wR @) BER (3) 23 R W 4) MWAew W

(131) ' | 23
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97. In India, decimal coinage system was introduced Iin the year

{1} 1951 (2) 1955 (3) 1957 (4)
gz 1 gafiw g el e o |
() = 1951 % (2) = 1955 & (3) = 1957 § (4)

Pink Revolution is related to

O

{11 cotton (2] garlic {31 grapes - [4)
TR Hif w4 '
(1) Fow R (2) weg 9 (3) Q@ (4)

In the solar system, which planet possesses the least density?

(1) Mars {2) Saturn (3) IJupiter (4}

d-vfEm 1 -7 T TR =W ES awer 87
(1) W @ R (3) Ty (4)

Who stated that “Earth is a spherical planet”?

(1) Copernicus  (2) Pythagoras (3) W.D. West {4}
“guft v MamEr 7z )" s e 47

(1) =g (2) urEEmRE (3) 5o Bo A= (4}

1965

a4 1965 #

onion

o= #

Lranus

- Aristotle

HH,

101, | The tranefer of heat in the atmosphere through horizontal movement of the air is called

(1] convection (2) advection (3} conduction (4}

(131) 24
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mmmnﬁ,maﬁmmt

1) e (2) =it (3) =wem (4] Fafrm

Which one has a highly clﬁpﬁcal orhit?-

(1] Pluto {2) Mercury (3). Earth (4) Mars

v 8 femm 1y s ddgeda &7

(1} =@ (2) 9w .3 Yo (4) W
103. / Lines drawn through- places ﬁaving same amount of sunshine are called

{1} isohela (2) isotherms {3) isobara (4) isohyets

™ H TR T e wE @ v i e Y  owe f

{1) wwade (2) "W Y (3) wm @ - (4) wwae

@ Mangrove Forests are found -

(1} aling séa coasts | {95 i Blennain ranges
(3} in River Vallcys | {4} over Plateaus
% wr 9 =S # |
(1] =@ ad & e . :ﬁjqi'er-imaﬂii
{(3) % uidat (4] v W™
' Biological Deserts are found in
(1} Lakes | (2) Rivers
(@) Contineptal Sheif . ' (4) Wide Gpen Oceans .

(131} 25
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ﬁﬂﬁﬂiﬂu_ﬂmwﬁaﬁf
(1) shelt ¥ ' (2) aRqt #
(3) wwéfm gve § 4) Teg g eI

106, | Which of the following is a natural pollutant?

(1) Pollen (2) Bacteria {3) Virus {4] Dust
Proffen # #Y TF SR wEE A7

() wm 2) AR (3) T TR G

107, Ia thia an environment-friendly activity?
{1) Increasing Forest Cover {2) Increasing Agricultural Land
(3) Increasing Industrial Production  {4) Nonc of the above
T T T GOTRN F wgEe e 4
(n = ot H i @ TR # i
{3) P I 7 g (4) I % | wrf T

108. The industries which manufacture parts and components to be used by big industrics

are
{1} ancillary industries (2} basic industrics
(3] consumer industries {(4) village industries

sai ot W 3Enl § wge Y A A sEmal o sEes W fmin w3
(1) FErE e (2) qer@ s@m (3] I 3 {4} T 3E

(131) 26
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Which one of the following is known for iron-ore?

(1} Bhilai " {2) Visakhapatnam

{3] Mumbai | (4) Kudremukh

Pl & & < de-ames ¥ R T W 27

(1) firewg (2) Proregem (3) ‘qrarf (4) Feae
@ Spices are grown mostly in

(1) Malabar Region [ﬁ} Konkan Region

[A] Coromandel Coast (4) Saurastra Coast

W yera: 4 fR 9 §
(1) TR B & (2) s v3w d (3 wvzw w §  (4) Py w4

111. Which one of the following groups are called millets?

(1) Maize, Jowar, Pulses {2} Jowar, Bajara, Ragi
{3) Bajara, Ragi, Maize (4) Maize, Jowar, Ragi
frafafes =l § 3 d-m fRm T &7 |
(1) =m, smw, v (2) vamaw, w@w,

(3) =, o, T (4) w1, AR,

@ India is the second largest rice producer in the world next to
1) China {2) Sri Lanka (3) Russia (4] USA
fm #, v T W gEO T T geew 8, Peed a?

(1 4w L (@) v ) (3) == (4) QoT@cTo
(331 . 27 | _ ;’Iw
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e Salal ie the hydropower project in
(1) Punjab (2) Haryana

{3) Jammu & Kashmir (4) Himachal Pradesh

e W T P T A 47 | |

(1) o (2) it (3) ¥ T vk 4) fmEa
The power project which is associated with the largest man-made reservoir in India

{l) Bhakra project : {2) Gandak project

{3) Rihand project (4) Chukha project

frga i o v d waR w wEEgd Sem @ wrala

{1) vz R | (2) &% A

{(3) femg qfadawr (4) En afEeE

115. Name of the richest, decpest and oldest gold mine of India

(1) Hutd (2) Gollunda {3} Kolar {4) Nellore
WA #, wad wag, Tl I gt @ wmow w R

(1) = ; (2) e (3) FrEm [4) AT

116. The industry which is localized along the banks of river Hooghly in West Bengal is

(1] Jute Textile {2) Cotton Textile

{3) Ship Building (4) None of the above

Fain A wfem ame ¥, gl ¥4 % w w e }

(1) V& @ JO  (2) s aT® I (3) W Sy (4) ITw 3 ¥ = T4

(131) | 28
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117. The State which is famous for production of ginger

{1) Arunachal Pradesh {2) Uttar Pradesh

(3 Kashmir #) Haryana

e I % ol g v R

(1) =@ %W (2) sm Rw (3} wwir (4) ehamn

118. Which one of the following is not a correct combination?

(1) Andhbra Pradcsh—Aurangabad (2) Maharashtra—Sholapur
(3) Gujarat—Ahmedabad (4} Uttar Pradesh—Ailahabad
B § A B w8 gw T A7 | |
(1) swarde—adtimam (2) TRy
{3} TRI—ATRTAT (4) IR RA—yEA
119./ Nilgai belengs to
(1) cow group ' (2) antelope group
3) horse group {4} None of the above
femt fem Wy 8§ and &7 | |
(- 2) WoEREm wgE (3} Swa-wE (@) st & 3 Wi
120. Baryte and manganese are found in -
(1] Uttar Pradesh {2) Haryana
(3) Assam . ' " {4) Andhra Pradesh
{h;i 3 foln wd wd § | |
) 7w . ] (2} oamn # (3) wm A ' {ﬂ““i ..

{81 29 _{P..ﬂﬂ.)‘
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Becﬁun—ll
o—II
LANGUAGE : ENGLISH

{For Candidates Opting English Language)
Mote - Four alternatives are piven as possible answers to each question. Qive the correct choice
a8 an angawer. :

Directions :  [Question No. -1:‘11-124} Select the word nearest in meaning to the given italic

word.
121. Fragile
(1) Bold (2) Hot (3) Delicate (4) Frank
122, | Virtue | |
(1) Demerit {2) Value (3] Vividneas (4) Advantage
123. Vanish
{1} Varnish (2) Disappear (3] Disregard {4) Vomit
124. Menace
(1) Threat- (2) Mind (3) Thrift (4] Maturity
Directions : [Qu;stiun No. 1235-128) Select the ward opposite in meaning to the given italic
word. '
125. Opaque
(1) Black {2) White (3) Thin (4] Transparent
126..- Tender
{1) Low {2} Strong (3} Proud (4] Shy
137) Noes
(L) Aves {2) Eyes (3} Ears (4) Mouth
128. Frugal
{1) Poor {2) Hasty (3} Extravagant (4) Fanatic

i131) - 30
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Directiens :  (Question No. 129-132) Select the word which has been correctly spelt.

. 1. (1) Cumodjty. (2) Accomodation {3) Committee (4] Superitendent
1230, (1) Tention {2) Retention @ Mantion (4) Hection
131. (1) Haven (2) mm . {5} Cigarete {4] Vailent
1&:. '{11 Tither {2) Computor (3) Percieve [4) Cattlea
Vo 2 e "

Directioms :  [Question No. 133-136) Select the word which can be substituted for the given
group of worda.

133. A person that you work wil:h
| {1} Comrade {2} Priend (3) Colleaguc (4] Helper
134. Am area in space that nothing can escape from _
(Y} Skyscraper (2) Black hole (3) Cockpit (4] Galaxy
135. A group of people in society who arc powerful because they are rich and inteliigent
(1) Aristocrat (2) Intelligentsia  {3) Bureaucrat {4, Elite

136. A device used to prevent heat, clectricity or sound from escaping from something
{1} Insulator {2) Radar {(3) Dyad (4] Dynamo
Directions :  (Question No. 137-140) Select the word to fill in the blanks.

137. The Principal of the college looked rather ——. & @ W e
() smart {2) amiable (3) ostentmbbous H] m

(193] - 3l P.T.0)
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138.

139.

140,

The girl was enough to answer all the qucuﬁonn.

{1} dull {2) nervous {(3) frustrated [4) intelligent
You have a mind and a kind heart.

(1} curious {2) cruel {3} reckless ) sluggish
If you are not to the radio, please switch it off.

(1) hearing {2) looking (3) listening {4} caring

pirections . (Question No, 141-147) Select the parts of speech of the underlined word in

i41.

1432,

143,

144,

(131}

the given sentences.

He taught me English.

{1) Transitive Verb ' (2) “Intranaitive Verb

{3) Auxiliary Verb (4} Modal Verb

He sang the song exceedingly well.

(1) Determiner (2) Noun (3) Adjective (4] Adverb

Sitting on the top ﬂa-o.r, we enjoyed the natural beauty of the landscape.

{1} Noun (2) Verbal Noun

*(3) Adjective ' {4]) Present Participle

India is a great country of ours.
{1] Relative Pronoun (2} Reflexave Pronoun

(3] Possessive Pronoun (4) Personal Fronoun

32
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Directions :  [Question No. 145-147) Chooag the explanation that catches the apmt of the

idigmn given in each question.

148, With flying colours ' N

(1) Swiftly (2) Merrily '3) Trumphantly {4} Leisurely
146. Keep one's head above water

147,

(1) Kecp smiling (2) Keep out of debt
(3) Keep swimming (4) Keep out of pleasure

Ca.l.lha spade a spade
{1} Work hard ' (2) Take advantage of the aituation
(3] Challenge the enemy " (4) Speak plainly

Iﬁm [Qucshm Na 148-180) Choosae the mrﬂct option to correct underlined part of

[

148,

149,

(131)

the given sentences.

Two hundred kilometres scem to be a long dut.a.uue .
(1) is seeming (2) seem to (3) seems to be (4] seem
He was prevented to come.

(1) to coming (2) coming (3) fmq coming {4} not to come

Hes went to the back side of the house.

) the baak of (2) to the back of

@ at the back side of {#) the back side of -
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151.

153.
183.
154

165.

@

157.

158,

(121)

(=t o = Rrenfifat ¥ ferg)

# =it %1 3@ wft IW R AT
i Tum & 3fae Rz w1 €T

T — " W Sy
(1) regeRah (2) wgeash
-

(1) T (2) gqm
e # RR wn A7 '
{1y fh (2) Al
i agw s A k7
(-1 2 %
i QW T R

(1) = (2) ¢
w2 g A

(1) wfteme (2) wrfiramh
v @ g W A7

(1} I (2 S
T A w oAl w7
1) T + T '[2] s + fn

(3)

(3)

(3

3}

.13

(3)

(3)

(3)

TRETa

LS

TF + W

(4)

14)

{4}

4]

{4

(4)

(4}

(4]

:-ﬁﬂﬁl‘hﬂnﬁ[1].[2],{3}3111{4}m#m-ﬂmmﬁﬁﬂt,ﬁqﬁﬂﬁim

TR )

il



159, Shkwna’ & fa-m e 47

(1) Wi (2) g
160. wwr' v fem Aot W A7
' AL (2) Tew
161. wif @ wam wg Wa-m 27
1) fawtt (2) wf
163. wil & wifdm a9 87
(1) wa (2) SR
163. v @ g ¥ &7
(1 = 2) 9w
wi 2 ¥ s gy A 87
(1} = {2) g
o o w=m R A d T owwm A
() s\ . (2) wrbfies fmo
166. ‘afi’ W wimarh w R7
(1) fr (2 go
167, wi ¥ 91 ‘s’ w1 i o A7
(1) e (2} wwn
168. ‘maa'kmr&gihﬂwt?
(1) = . (2) SwER

o -
@t R el .'ﬂ?
;@-M 2 AW P

A W R w P g

mr;!;.ia" 35

3

(3)

(3)

@)

(3).

(3)

(3)

{3)

(3)
(3) T

2).

(4]

%”sj

x

il

ﬁ;mm
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4) =

- {4) feh

(4) W8

{4) wIN

(4) W

(4] W™

(4) wdm
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170, W el & W w R, @ T W

(1) e 2) T (3) dmm
171. ‘am & o T | a2

(1) T w= (2) wh won (3) &
172. ‘m w1 »¢ }

(1) & Fmfo 2 miwn . (3 farFw

waligrg it a4

(1) g {2) wTe (3) ot
174. ffwe o fg & w2

(1) v @ v @)
175, WA @ Meehiwe w R ok |

(1) wmre {2) wba (3) fmm
176, ) frdt & wweft sl Sfw welt wrht §

N (1) T (2) s (3) wzfvon

177. i 3 e 97 R7 _

(1) goelic (2) wHw (3) 3w
178. it g wm @ e dfe feed 7
| (1) (2) TEEE (3) T ==

@ nidh fras s @7

(1) wm = {2) Wererm £ A (3) frgrarh
180. ‘FiEE G F wIEE ¥ ,

(1) TEEm () W WER (3) SRR fim

- B &
36

(4)

@)

{4)

(4]

@)

(4)

(4)

(4]

(4]

(4)

{4

fm s

forER W

e i

e HfEm zm
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e

10.

11.

il.

13.

14,

mg’rﬁmﬂaﬁ%mﬁqz%amlﬁ&aﬁiﬁamﬁmrgqﬁzimaﬁﬁm
ﬁamalgﬁwmﬁﬁmﬁmzmwmmm—ﬁﬂmﬁmaﬂﬁmﬁ
guft gficem W = o |
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T¥ & & qEET fEw owmwi
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m—wtmqﬂﬂﬂwﬁmwﬁﬁmmvmumﬁﬁﬁﬁwm%
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Mo THo WMo WA W SYFENTE wen, W-yfew wem 4 4 wem (AR RN @) 0 FW-TEH T
FTRTE Wo SR 3o THo e WA He &1 wiafmdt ¥ Fefema = argufa T )
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W TR

m—mﬁmmﬁmmmﬁﬁv&%mmi‘mmtﬁ#mma
o7 ¥ gty O & wwd 3 8 gv @) IW-vA % wuw @y W A 72 fHdfal & o @ R

a1

TE T E I % ol Fee w8 gu @ Mg Ht Uw A AU g9 W ome w0 W AN T
ﬁﬁaﬁnﬁmﬂmwmmn

mﬁﬁmmmmmmmqﬁmm%mﬁmmmﬂWM?wm
2 @ wafam dfs F A R M @l gl ) oaeh 9 ) W@ sl Wogw T fad e

o wd & et TE-TER ¥ YR ¥ A< A g ad sifm ge w owEm W
qften F TR RAS FeTHeATe IOT-VH i@ wEA H owm W &)
Tl FHE B ¥ 9% wiw wed A S o w1 sqEfa e

afs @ sl witen ¥ sefm WA & owEm w@ @ o famfamen g fffa < s, wei
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